King Saud University (The Preparatory Year)
Chem.:     145                              Midterm   2                             Time:   1   hour
Name: ------------------------------------------------------------------   St. No. (------------------) 
Group No. (------------------)                                                         Serial No. (--------------)

I) Choose the correct answer for the following:
1. The correct IUPAC name of the following compound 
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                            is:

(a) 3-Acetylene-4-methyl-1-pentanol

(b) 3- Isopropyl-4-pentyn-1-ol

(c) 3-Ethynyl-4-methyl-1-pentanol

(d) 3- Isopropyl-1-pentyn-5-ol

2. The common name of this compound
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                                              is:

(a) m-Cresol             (b) m-Xylene                      (c) Catechol                       (d) Resorcinol         

3. Which of the following compound has the common name “Styrene”?
(a) 
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4. Which of the following compounds would be oxidized to an aldehyde?    c
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(a)                                        (b)                                    (c)                               (d)


5. The addition of 2 equivalent of HBr to 1-pentyne gives………. as final product.

a) 1,2-Dibromopentane                          b)  2,2-Dibromopentane
c) 1-Bromopentene.                              d)  2-Bromopentene

6. Which of the following compound is aromatic? c
(a) 
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                  (b) 
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                    (c) 
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7. Which one of the following phenols has the highest acidity?  d
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(a)                                        (b)                                    (c)                               (d)
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8. Which of the following compounds has the lowest boiling point? a
(a) Methanol                 (b) Ethanol                       (c)  Propanol                            (d)  Butanol

9. What is the type of the reaction between methyl bromide and dil. KOH?

(a) Electrophilic substitution                                     (b) Nucleophilic substitution

(c) Elimination                                                         (d) Addition
10. Which of these compounds is a 3o alkyl halide?

(a) 
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11. The least reactive compound of the following substituted benzene in electrophilic aromatic substitution is: d
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II) Choose the correct and the major product for the following reactions:
1.   
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4.
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5. b
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III) Select reagent that can best accomplish the following reaction:
1.
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	(a)
	Cl2/ CCl4
	(b)
	Cl2 / UV light

	(c)
	SOCl2
	(d)
	CH3CH2Cl/ AlCl3


2. 

[image: image39.emf]?


H


H




?

HH


	(a)
	H2/Na in Liq NH3
	(b)
	H2/Pd (BaSO4)

	(c)
	H2/Pt
	(d)
	HgSO4/ H2SO4


3.
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	(a)
	Br2, heat.
	(b)
	Br2, CCl4

	(c)
	Br2, FeBr3
	(d)
	CH3Br, AlBr3
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